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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot EC/PH from runoff
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Plot [['I", "lopt’], ['T", ’'Topt'],

['RH’, ’RHopt’],

['ETcl’, "optETcl’], 'LAl', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-1

BrE) | GEBAK () | ERE (EH/R) (XS R

08:15 278 150.0 | FiHfe0s: 15 REEEF (KEERHR)
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23t+]3058.0 (117%) 1650. 0 3 8FKEC: 2080.0, PH: 5.6
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P3-1
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large discrepency for begining water status (366:75.0), set to 366 ml
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26. 5 -
26.0 -
T T T
500 505 510
m=685,m FV0=0
29 -
—— MW
28 -
27 -
26 -
T T T
685 690 695
m=840,m FV0=0
—— MW
28 -
27 -
26 -
840 845 850
m=1015m FVO0=0
0g - —— MW
28 -
27 -
26 -

1015 1020 1025

28.

28.

27.

27.

26.

26.

25.

29.

28.

28.

27.

27.

26.

26.

m=560, FV0=0

28 A

27 -

26

25 A

—— MW

560

565 5%0
m=720,n FV0=0

—0— MW

720

7é5 750
m=875,n FV0=0

—0— MW
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880 885

m=605, FV0=0
29 A
—— MW
28
27 A
26
T T T
605 610 615
m=760,m FV0=0
—o— MW
28 -
27
26 -
T T T
760 765 770
m=915,m FV0=0
29 _ + M_W
28 -
27
26
915 920 925
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P3-1

BfiE) | GEBEETIC (F)) | EM=E (BH/K) | KR R

07:40 273 150.0 = {RRiB007:40 Bz (RFAEEE)
08:20 273 150. 0 E|  {Rig@08:20 Bah (RE{ERE)
09:15 273 150.0 | 1Ri%e09:15 B (REAERER)
09:55 273 150.0 E 1BRi&@09:55 Bzl (RFAEREEE)
10:35 273 150. 0 E 1BRi&e10:35 Bz (GRAEREE)
11:15 273 150.0 sl BRige11:15 Bz (REAERESE)
11:50 273 150.0 =l {Rige11:50 B3 (RAERSE)
12:25 273 150.0 =l RiBe12:25 B (REAKEE)
13:00 273 150.0 =l RRi8013:00 Bz (REAEESE)
13:35 273 150.0 F BRige13:35 Bz CGRAERSE)
14:10 273 150.0 = Ri%e14:10 B (REMREEE)
14:45 273 150.0 =l RiB014:45 Bz (REAEESE)
15:25 273 150.0 F BRige15:25 Bz GRAERSE)
16:15 273 150.0 5| Rike16:15 Bz (REAERS)
H2it]3822.0 (14)%) 2100.0 3EHKEC: 2080.0, PH: 5.6

TERRHERE STHMERT (176.0 : 139.0), ARHEHAT—AERXAHE
ZRIASERRIERE139. 0 ml.
B EKECE (2223.0 vs 3670.0) 45



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

150 A

100 A

50

200 4
150 -
100 -
50 -

1.

0.

0

300 A

200 -

100 -

300 4

200 -

100 -

P3-1_0, Day=56 (2025-05-24)

VI, V?ga';RV’ ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2288

60 Warning: lcol [FVI',| "FVO’'] missing 40

T
N
o
o
o

- 1000

FRV (ml d-1)

0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

.0

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

OJ—LJ 2—
0 1 2 3

]
Bylni{ @D58 01:41: ET=1978 Fg=2700.0 Ro=529.0
I

- 4000
7

- 3000
- 2000

- 1000

cumET (ml/plant)

4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

2000

=8a——=_
0 0 1

= E3 E3 ES = E3 E3 ES = E3 E3 ES = E3 E3 ES = E3 E3 ES = E3 E3 ES
H H H i H H H i H H
B B A A B B A A B A A B B A A B B A A B B A A

ByEt @D56 19:10: ET=2030 Fg=1846.0 Ro=nan

- 3000

- 2000

- 1000

cumET (ml/plant)

 — ==
3 | 4

2 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

2000

001 | % | % | ™ | | B | % | m | m @ | ® | m®|m| |5 |5 |®|E 525 % @[ @B

200 -

100 -

1.

0.

0.6

0.4+

0.2~

0.!:;;!EE£!F

]
ByWoFY @D58 01:41: ET=1700 Fg=2100.0 Ro=459.0
]

- 3000

- 2000

- 1000

cumET (ml/plant)

| P | W | W | W | W | W | W | w5 [ w5 [ w5 [ W [ w5 [ w5 [ W | W | %[ W[ ®m[Zx(Zxm [ mmm

20 -
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|
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m=465, FV0=0

27.0 - —o— ME
26.5
26.0
25.5
25.0
24.5
24 - T T T T T T
600 800 1000 465 470 475
m=600,m FV0=0 m=645,m FV0=0
29.0
—— ME | ] -o— ME
28.5
28.0
28.0
27.5
27.5
27.0
27.0 26,5 -
26.5 15 . : : : .
600 605 610 645 650 655
m=765,m FV0=0 m=800,m FV0=0
29.0 29.5 4
- ME —o— ME
98, 5 - 29.0
28.5
28.0
28.0
27.5
27.5
27.0
27.0
26.5 15 . : . : :
765 770 775 800 805 810
m=940,m FV0=0 m=990,m FV0=0
30.5 —-o— ME —-o— ME
30.5
30.0
30.0
29.5
29.5
29.0
28.5 29.0 1
28.0 15 . : 28.5 4+ ; ;
940 945 950 990 995 1000
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28.

27.

m=495, FV0=0
0 -
e ME
5 -
0 -
5 -
o -
5 -
T T T
495 500 505
m=685,m FV0=0
- ME
o -
5 -
0 -
5 -
0 -
T T T
685 690 695
m=845,m FV0=0
- ME
5 -
07 oo
5 -
0 .
5 -
845 850 855
m
28 -
26 -
24 -
22 7 —-— MW
600 800 1000
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28.

27.
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29.

28.

28.

27.
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26.

30.
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29.

29.

28.

28.

m=5395, FV0=0
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M_E

T T
560 565

m=730,m FV0=0
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M_E

T T
735 740

m=890,m FV0=0
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M_E
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895 900
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—o—

M_W
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m=495, FV0=0

28 —— MW
27
26
25 -
24
T T T
495 500 505
m=685,m FV0=0
—o— MW
28 -
27
26 -
25
T T T
685 690 695
m=845,m FV0=0
—— MW
28
27 4 i o S
26 -
25
845 850 855

m=555, FV0=0
—— MW
28
27
26
25 - .()'
555 560 565
m=730,m FV0=0
0 —— MW
27
26 -
25
730 735 740
m=890,m FV0=0
—— MW
28 -
27
26 -
890 895 900

m=600, FV0=0
—— MW
28
27
26 |
25 -
T T T
600 605 610
m=765,m FV0=0
—— MW
28
27
26 -
25 -
T T T
765 770 775
m=940,m FV0=0
29 7 —— MW
28 -
27
26 |
940 945 950

29.

28.

28.

27.

27.

26.

26.

m=645, FV0=0

28 A

27 A

26 -

25 A

—0—

M_w

645

660 655
m=800,n FV0=0

29 A

28 -

27 -

26 -

—o—

M_W

800

865 8i0
m=990,n FV0=0

——

M_W
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995 1000
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P3-1

BrE) | GEBAK (3 | ERE (EH/R) (XS R

07:30 278 150.0 (Z=| {Ri%@07:30 Bz (FEAFERHSE)
08:15 278 150.0 | =| 1BRi&e08:15 Bzh (REERSE)
09:25 278 150.0 [Z=| 1RiB009:25 Bzh (KREEREE)
10:25 278 150.0 & =| 1Ri%@10:25 Bz (GRAHERESE)
11:25 278 150.0 & =| 1Rige11:25 Bzh (RAHERESE)
12:10 278 150.0 | =| 1Ri%e12:10 Bz (kAEREEE)
12:55 278 150.0 |Z=| 1BRige12:55 Bzh (REERESE)
13:50 278 150.0 PH| 1{Ri%e@13:50 B (RAERESE)
14:30 278 150.0 FA| {Ri%@14:30 Bz (GRAERE)
15:15 278 150.0 FA| 1B2i%@15:15 Bzh (RAEREE)
16:10 278 150.0 Al 1Ri%e16:10 Bzh (RAERESE)
23t+]3058.0 (11%) 1650. 0 3 3FKEC: 2080.0, PH: 5.6

WERRHUEME S TEAERTS (179.0 : 142.0), AIgERAF—RE XAH45
BRI\ SEBRIERE142.0 ml.
#[EKECE (2080. 0 vs 3727.0) 345



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=55 (2025-05-23)

T e g g e S B S g g

100 A

50

200 3

150 -

100 -

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

1100

1432

Warning: lcol ['FVI’,

"FVO' ] missing

50 A

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

200 -

100 A

]
Bytni{ @D58 01:41: ET=1791 Fg=2400.0 Ro=644.0
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[
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B
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B
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B
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B B g5 [ 3000

200 -

100 A

ByEt @D55 19:09: ET=1782 Fg=1529. 0 Ro=nan

3 o

0

1
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4
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6
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12
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- 2000

- 1000
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20

21 22 23

300 7

A

A
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—2
3
'

A

A

FA
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2N EZSES
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A

FA

A

A

A

%=

2=| BE 5 | 3000

200 -

100 A

1.0

]
ByWoFY @D58 01:41: ET=1391 Fg=1650.0 Ro=326.0

1
|
|
|
1
|
i i

11 4

1

4

10

12

13

14

- 2000

- 1000
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20

21 22 23

0.8

A
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3
'

A

A
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A
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A
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*n| BE | B

0.6
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0.0
1500 4

1000 ~

—_— 4
[ ] | _obs
—@— PPFD obs

40 -

RH
RH_obs
RHo_obs

2.0 7

e vpD P

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



29

29.

28.

28.

27.

27.

30.

29.

29.

28.

28.

27.

M_E
30 -

29 A

28 A

27 -

26 A

25 A

760 860
m=615,n FV0=0

T
500 600

T
900

T
1000

.94

——

M_E

GéO
m=800,n FV0=0

T
625

——

M_E

805

810

28 A

27 A

26

25 A

24 -

23 A

)

M_W

700 800

m

500 600

900

1000

28.

27.

27.

26.

26.

25.

25.

29.

28.

28.

27.

27.

29.

28.

28.

27.

27.

m=490, FV0=0

0 - —o— ME
;| o—o\._.&.)
0 .
5 .
0 .
5 .
0 - T T T
490 495 500
m=665,m FV0=0
—o— ME
0 .
5 .
0 o—o\.\.
5 .
0 .
T T T
665 670 675
m=855,m FV0=0
o —o— ME
5 .
0 .
5 .
0 .
855 860 865
m=490,m FV0=0
26 1 —o— MW
25
24
23
490 495 500

29.

29.

28.

28.

27.

27.

27.

27.

26.

26.

25.

30.

29.

29.

28.

28.

27.

m=515, FV0=0
5
—o— ME
0 -
5 -
o -
5 -
0 T T T
515 520 525
m=715,m FV0=0
5 —o— ME
0 -
5 -
0 .
51— . .
715 720 725
m=900,m FV0=0
07 —e— ME
5 -
0- '.\'\o-o—o\._.
5 -
0 -
5 -
960 965 9io
m=515,m FV0=0
—o— MW
28 -
27 -
26 -
25 -
555 5ﬁo 555

29.

28.

28.

21.

27.

29.

28.

28.

27.

27.

26.

30.

30.

29.

29.

28.

28.

m=570, FV0=0

——

M_E

5%5 5é0
m=755,n FV0=0

——

M_E

7é0 7é5
m=955,n FV0=0

——

M_E

955

9é0 965
m=570,n FV0=0

28

27 A

26

25 A

——

M_W

570

575 580




m=615, FV0=0
—— mw
28
27 4
26
25
T T T
615 620 625
m=800,m FV0=0
98 —— mw
27 4
26
25
T T
800 805 810

m=665, FV0=0
28 - —— M_W
27 A
26 A
25 A
T T T T T T
665.0 667.5 670.0 672.5 675.0 677.5
m=855,m FV0=0
—— MW
28 -
27 A
26 -
25 -
T T
855 860 865

m=715, FV0=0
28 - —o— MW
27
26
25
T T T
715 720 725
m=900,m FV0=0
28 4 —— M_W
27 A
26 -
25 -
T T
900 905 910

27.

217.

26.

26.

25.

25.

24.

28.

27.

27.

26.

26.

25.

m=755, FV0=0

—0—

MW

755

T T
760 765

m=955,m FV0=0

—o—

M_W

955

960 965
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125

:00

:30

100




P3-1

BfiE) | EBETK (D) | EE (EH/AR) | XK R

07:20 278 150.0 & =| 1Ri%e07:20 Bz (kAEREE)
08:20 278 150.0 (& =| 1BRiB@08:20 Bzh (FRHEEREEE)
09:20 278 150.0 FA| 1BRi&@09:20 B3h (KA{EREEE)
10:25 278 150.0 FH| 1BRi&@10:25 Bzh (GRAEREE)
12:00 278 150.0 FA| 1BRi%@12:00 B3h (RABERESE)
13:30 278 150.0 FA| 1Ri%@13:30 B3 (KRAHERE)
Bit]1668.0 (6%) 900.0 32 KEC: 2080.0, PH: 5.7

FEREHERE STEELRF (179.0

ERIASSPRIERL145.0 ml.

large discrepency for begining water status (316:90.0), set to 316 ml

#[E3KECE (2040.0 vs 3660.0) TS

145.0), AIEEHT—@E XAHS




P3-1_0, Day=54 (2025-05-22)

3000

150 A

100 A

50

FRV (ml plant-1)

V1, V&SRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
2000

490 1432

Warning: lcol [FVI',| "FVO’'] missing

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.7

Warning: lcol ['PHB’,| 'PHC’'] missing

ET (ml/hr/plant)

300 -

200

100 A

1
400 - Bylni1 @D58 01:41: ET=1377 Fg=1800.0 Ro=437.0

—8—8—%

® ©
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- 2000

- 1000
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]
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- 2000
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—_—
[ ] | _obs
—@— PPFD obs
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o RH_obs
RHo_obs

1:004 /w "8 ~ ¥ ® VP

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)
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28. 00 -
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m=595,m FV0=0
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T T T
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m=900,m FV0=0
5 -
—o— ME
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900 905 910
m=539,m FV0=0
5 -
-— MW
0 .
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0 .
5 .
0 .
5 .

535 540 545

m=440, FV0=0

28.5 A

28.0 A

27.5 -

27.0 A

26.5

26. 0 -
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T T
445 450

m=650,m FV0=0

655 660

28 -

27 A

26
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24 -
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m=595,m FV0=0
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27.0 A
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29.
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m=465, FV0=0

25 A —o— M_E
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75 -
50 A
25 -

00 A
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465 4;0 4%5
m=690,n FV0=0

50 —0— ME

25 -
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75
50 -

25 A

690 6é5 760
m=440,n FV0=0

97 4 —— MW

26 -

25 -
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i
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m=650,m FV0=0

28.5 -— MW

28.0 -

27.5 A
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—o— M_E
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m=745, FV0=0
28.5 - M
28.0 -
27.5 A
27.0 -
26. 5
T T T
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m=900, FV0=0

28 —— MW
27 A
26 -
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T T T
900 905 910




